HTA A O (GHEA)

ERk28HE 28 1ARE

B 4 =8 &t B 4 2 & &t
AEZEHT 0 0 0 | = RiHT 7 4 1
KIZRHET 145 161 306 |HRET 8 7 15
3 SHET 2 0 2 |JEHT 3 4 7
=AHT 131 168 299 | FLILHET 6 12 18
=&idtE 61 86 147 |1 EHT 2 2 4
SE AT 2 4 6 |[#ARHET 2 4 6
= [ ET 49 67 116 |EHT 16 22 38
FFFHET 0 2 2 |SRHT 12 22 34
KA HT 1 26 37 |AA[RHET 0 0 0
SEEHT 8 11 19 |1 &HT 205 211 416
i AHT 0 0 0 |7iBHT 0 1 1
4./ $ERET 9 10 19 |FAAHET 32 55 87
FTARHT 6 5 11 FESHT 84 86 170
HrHHZET 1 1 2 |EHT 0 0 0
S ERHET 1 9 10 |—&HT 1 2 3
YiE A BT 2 5 7 | EHT 27 27 54
Hr HHET 0 0 0 2 /RHET 107 188 295
AN 4 24 28 |74 iHT 15 33 48
R AAHET 17 24 41
AHT 5 6 1
b AHT 0 1 1
FR LA HT 3 9 12
JUHET 7 6 13
E AT 3 6 9
fHsEHT 13 13 26| & 3 1,007 1,324 2,331




